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Test 8 section 2 (838)
1) E
2) E
3) B
4) B
5) D
6) D
7) C
8) A

9) 13/2    6.5
10) 10
11) 45
12) 105
13) 12.5    25/2
14) 3/50    0.06
15) 192
16) 8/7     1.14

17) 0/1<X<3/8     0<X<.375
18) 1350
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the square root of a number is another 
number that when multiplied by itself gives 
you the original number.
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Test 8 section 5 (855)

1) B
2) E
3) C
4) D
5) B
6) A
7) C
8) C

9) D
10) E
11) B
12) C
13) C
14) D
15) A
16) A

17) D
18) A
19) E
20) E
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17) if k and h are constants and 
x^2 + kx + 7 is equivalent to (x+1)(x+h), what 
is the value of k?
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19) Let the function defined by f(x) = 2x - 1.
if (1/2)f(root(t))=4, what is the value of t?
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20) If k is a positive integer, which of the 
following must represent an even integer 
that is twice the value of an odd integer?
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Test 8 section 8 (867)

1) A
2) E
3) C
4) E
5) C
6) D
7) B
8) B

9) B
10) C
11) A
12) C
13) D
14) E
15) C
16) E
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